
INSTALLATION  INSTRUCTIONS

1. Open the package and take out all the accessories.

2.Put the 360 photo booth upright. Adjust the height of the cushions to keep the 360 photo booth stable.

3.Put the shaft into the balance board. And fix  it with 2 M8 screws on the left and right sides respectively.

4. The bending pole (with the box opening facing up) is mounted on the shaft. First use M8 screws to fix the left and right center positions. Adjust the 
appropriate angle, and then fix the edges on both sides with M8 screws

5. Install thicker pole and thinner pole or install thinner pole to the bending pole directly (thicker pole is optional)

5.1 Insert the thincker pole into the bending pole. The left and right sides are fixed with 2 M6 screws respectively.
Then insert the thinner pole into the thincker pole. The left and right sides are fixed with 2 M6 screws respectively. By adjusting the corresponding hole 
position, the height can be adjusted

5.2 Insert the thinner pole directly into the bending pole. The left and right sides are fixed with 2 M6 screws respectively. By adjusting the 
corresponding hole position, the height can be adjusted

6. Install the ring light on the head of the thinner pole. Tighten the head screws.

7. Plug the female connector of one-to-three DC wires with the DC head of the light strip and the DC head of the motor controller respectively

8. Plug the male connector of one-to-three DC cables into the DC connector of the power adaptor. Connect the power cord with the power adaptor

Page 1

      360  Photo  Booth



INSTALLATION  INSTRUCTIONS

9. Install mobile phone, camera, and iPad (choose one of three)

9.1  Mobile phone installation. Install the phone holder assembly on the central screw hole of the ring light, pull out the 
ends of the phone holder, and put the phone into the slot.

9.2  Camera installation. install the camera on the camera holder at the bottom of the ring light. Tighten the gimbal screws.

9.3  iPad installation. Install the iPad holder assembly on the thinner pole and tighten the fixing screws. Press the button on the side of the stand 
and pull out the buckle. Put the iPad into the slot, and then tighten the buckle.

10. Put the power bank (DC5V output) in the bending pole box. Plug the USB outlet of the ring light into the power bank.

11.Insert the plugs of the power cord into AC100-240V and the installation is completed.

   NOTICE：
1.Reverse rotation and speed can be adjusted through the motor remote controller. The color of the ambient strip light can be changed by the ring 
light remote controller. 

2. Battery for ring light remote controller (battery specification CR2025 3V) Battery for motor remote control (battery specification 23A 12V)

3. The medium pole can be removed if lower height is needed, then connect the bending pole with the thinner pole directly.

Page 2

      360  Photo  Booth

CR2025 3V


